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ou see in each table in d

se a ruler to help you?
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2. What patterns do'y uesti

w can you u

3. Copy and complete. Ho
b) 20cm = []mm

a) 8cm =[]mm

4. Copy and complete.

a) 60 mm = [Jcm c) 100mm=|:]

b) 40 mm =[] cm

5. Copy and complete.
a) 2000mm =[]m  b) 6000 mm =[]m ¢) 9000 mm = U.

d)5m=[]mm e)2m=[]mm l8m=]mm

6. Name another referent for each unit of measure. Explain each choic
a) 1mm b) 1cm c)1m ]

7. Draw eacl.1 item. Measure its length in millimetres
a) a pencil b) a needle :
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a? a .fe.ather 15 ¢m long b)
: AN Inca~ s 1A




